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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see
Jour words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that
| best completes the sentence. Then mark your answer sheet.

7@& Ali and Reza did their homework while I dinner last night.
{) themselves / have made 2) himself / am making
3) himself / made 4) themselves / was making




77. Recent research suggests that the men : are more willing to take
part in social activities.
1) who have given up smoking 2) whom have given up smoking
3) who has given up to smoke - 4) whom has given up to smoke

78. It is the first time that he me that he would come to the party if he --——-----
invited.
1) was telling / were 2) told / was 3) has told / were 4) is telling / was

79. NI - enough money, I could buy the house .
1) have had / which I were born 2) had / where I was born
3) have / that I were born in 4) will have / in which I was born

80. He went abroad in the -----———--- that it would help him to create a better future for
himself.
1) moment 2) habit 3) belief 4) state

81. According to the report, many forgotten and historical -------—-—-—-—-— have been
discovered in old houses recently. ,
1) treasures 2) values 3) emotions 4) actions

82. He likes to stay at a comfortable hotel in an area with immediate -----------—-- to places of
entertainment such as cinemas and zoos. :
1) memory 2) success 3) influence 4) access

83. He scored a great goal which was easy to ----------———-——- based on his high quality.
1) claim 2) predict 3) attend 4) transmit

84. We are planning to organize a special charity event and collect money in ------- of cancer
research.
1) aid 2) origin 3) common 4) peace

85. The children were given some ------------ to help them solve the difficult puzzle, but all
their efforts ended in failure.
1) entries 2) vibrations 3) clues 4) emphasis

86. The well-known author has -------eeeeemv several books which have attracted a lot of
public interest.
1) invented 2) published 3) experienced 4) caused

87. As far as I know, there is no wonder ———---—-——————— for this rare heart condition.
1) diet 2) noise 3) notice 4) cure

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide
which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

There have been hints that the famous astronaut, (88) ---------- some space missions
recently, may retire early because of poor health. I’'m quite certain that he is the single
most successful Afghan scientist (89) --------m-mnm-- history. This experienced specialist has
spared no pains to share his wide scientific knowledge with others. Although he has lived
abroad for almost half of his life, he has never lost his cultural and national identity. He

has tried to the best of his ability to (90) ------------ the living conditions in his homeland.
Besides, he has played an essential role (91) ----------m- a modern observatory in
Afghanistan. Not surprisingly, he has been a real inspiration to the younger generation of
space scientists who are (92) -----=---nm--- international fame and public recognition.

88. 1) who has gone on 2) that went on 3) who went to 4) that has gone to

89. 1) during 2) whereas 3) throughout 4) all around

90. 1) identify 2) improve 3) guess 4) develop

91. 1) in founding 2) on founding

3) in the foundation 4) on the foundation
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92. 1) expfessing 2) joining 3) seeking 4) converting

Part C: Reading Comprehension
Directions: In this part of the test, you will read three passages. Each passage is followed

| by some questions. Answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark your answer sheet.

PASSAGE 1 :

During the first year of children's lives, parents and carers are concerned with their physical
development; during the second year, they watch the babies’ language development very
carefully. It is interesting how easily children learn language. Children who are just three or
four years old, who cannot yet tie their shoelaces, are able to speak in full sentences without
any specific language training.

The current view of child language development is that it is an instinct—something as
natural as eating or sleeping. According to experts in this area, this language instinct is
innate, that is something each of us is born with. However, this prevailing view has not
always enjoyed widespread acceptance. In the middle of last century, experts, including
John Whiting, a renowned professor at Harvard University, regarded child language
development as the process of learning through mere repetition. He believed that language
'habits' were developed as young children were rewarded for repeating language correctly
and ignored or punished when they used incorrect forms of language. Over time, a child,
according to this theory, would learn a language much like a dog might learn to behave
properly through training.

Even though the modern view holds that language is instinctive, experts like Professor
Lise Eliot are convinced that the interaction children have with their parents and caregivers
is essential to their development. The language of the parents and caregivers acts as a model
for the developing child. In fact, the babies’ day-to-day experience is so important that they
will learn to speak in a manner very similar to the model speakers they hear.

93. What does the passage mainly discuss?
1) Why parents must take care of children in early stages
2) How babies learn a language
3) The babies’ developmental stages
4) The difficulties children face while learning a language
94. Why does the author use the underlined clause “who cannot yet tie their shoelaces” in
paragraph 1?
1) To compare and contrast two different abilities that babies develop
2) To introduce another ability that babies can show during their early developmental
stages
3) To emphasize how difficult it is for babies to tie their shoelaces
4) To support an earlier claim about babies’ special ability to learn a language
95. Which of the following is WRONG according to the passage?
1) Nowadays it is believed that we are all born with an ability to learn a language.
2) Babies show a good level of linguistic ability at the age of 3 or 4 if they are taught
how to speak a language.
3) Some researchers believed that babies might develop language habits through
repetition.
4) Parents provide babies with a good model to copy in the process of learning a
language.
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96. According to John Whiting, all of the following statements are true about the way babies
learn a language EXCEPT ------cemmmeemeemm . ‘
1) They learn a language because they are naturally able to do so.
2) They learn how to speak a language when they are punished for making incorrect
language structures. L
3) They learn a language when they repeat what they hear.
4) They learn how to speak a language in the same way a dog can be trained.

PASSAGE 2: .

Ice is water in its frozen, solid form. Ice often forms on lakes, rivers and the ocean in cold
weather. It can be very thick or very thin, and may occur as frost, snow, sleet and hail.
Water will freeze at zero degrees Celsius (32 degrees Fahrenheit). Once it gets close to its
freezing point, water molecules begin to expand. In a small space, these expanding
molecules can create a lot of pressure. This is why freezing water can burst even the
heaviest of metal pipes in the winter. This is also the reason your ice tray at home can look
like it’s overflowing with ice, even though you only filled it halfway with water. If water
freezes in a crack in rock, the ice can eventually break the rock apart. Because of these
powerful properties, ice is very important in the processes of weathering, where rocks are
broken into smaller bits, and erosion, where rocks and earth are washed or moved to other
locations.

The expanded molecules make ice a lot lighter than liquid water, which is why ice
floats. An iceberg that weighs several tons can still float easily in the ocean, just like a piece
of ice floating easily in your cup of water or soda. Water covers more than 70 percent of the
surface of the Earth. Slightly more than two percent of the water on the Earth is frozen into
ice; almost all of this ice is in glaciers, which are huge masses of ice. Today, glaciers are
found in many mountainous areas and in the polar regions of the Earth.

97.. According to the passage, what is the main reason behind a piece of ice floating on

water?
1) its weight 2) its smaller molecules
3) its pressure 4) its freezing point

98. Which of the following is NOT true according to the passage?
1) Ice can take different forms in nature.
2) Ice plays an important role in environmental changes.
3) When water freezes, it is powerful enough to burst metal pipes.
4) The size of water molecules decreases as water gets close to zero degrees Celsius.
99. The underlined word “eventually” in paragraph 1 is closest in meaning to -----------—--- .
1) carefully 2) finally 3) accidentally 4) wisely
100. It can be understood from the passage that : .
1) polar regions make up almost 2 percent of the surface of the Earth
2) the processes of weathering and erosion happen in the winter
3) ice takes up more space compared to liquid water
4) solid water is heavier than liquid one
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